CCSS Mathematics Assessment Task

	Grade Level:  2

	Mathematics Domain and Cluster:

Domain: Operations and Algebraic Thinking

Cluster: Work with equal groups to gain foundation for multiplication.

	Common Core standard(s) being assessed (if the task is intended to assess only one part of the standard, underline that part of the standard):
2.OA.3 Determine whether a group of objects (up to 20) has an odd or even number of members; e.g by pairing objects or counting them by 2s; write an equation to express an even number as a sum of two equal addends.

	Student Materials:

· Pencil



	Teacher Materials:  

· Kristy’s Garden assessment sheets



	Directions (for teacher to administer assessment task):
Teacher may choose whether to assess students in small groups, or as a whole class.
· Hand out Kristy’s Garden assessment sheets (one per student)

· Tell students “You will be identifying even and odd numbers and explaining your thinking.”

· As you point to each part of the prompt (different layouts, determining whether the same number of tulips and lilies can be used), say, “You will determine whether layout A or B is even and explain how you know; decide whether or not you can plant the same amount of tulips and lilies in the layout you chose and explain; and, finally, you will write an equation for the number of tulips and lilies Kristy would have to buy.”

· Tell students “Remember to read the directions for each part carefully.”

· Have students work independently on task

Differentiation option: If needed, have students use counters (or other small objects).

Teacher note: Prior to this assessment, teach the vocabulary “equal” or “equal amount.”

	Prompt:

See attachment.

	Correct or Model Answer:

Answer may look similar to this.





Group A is even because I can group 

the objects into two equal groups.

6 tulips + 6 lilies = 12 flowers in all.












	


	Scoring Guide/Rubric (a score should be awarded for each criterion below)

	Criteria (CCSS code)
	0 points
	1 Point
	2 Point

	Determine whether a group of objects (up to 20) has an odd or even number of members; e.g by pairing objects or counting them by 2s. (2.OA.3)
	No strategy used to show that there is an even number of objects and explanation is unclear.
	Strategy is used to show that there is an even number of objects, but explanation is vague or unclear.  
	Strategy is used to show that thereis an even number of objects AND explanation is clear.

	Write an equation to express an even number as a sum of two equal addends. (2.OA.3)
	Equation is NOT correct.
	Equation is somewhat correct. (e.g., correct symbols may be used but may be in the wrong place like 6 = 6 + 12 or 

6 + = 6 12.)
	Equation is correct.


Kristy’s Garden

	Problem:   
      Kristy is planting some flowers in her garden.  She wants to plant an even amount of flowers.  Which of the following layouts will allow her to do that?

	

a. 



Which of the layouts above have an even number of flowers? ____________________________

Explain your thinking. 

__________________________________________________________________________________

__________________________________________________________________________________

__________________________________________________________________________________

Kristy wants to use the layout that has an even number of flowers.  She wants to plant equal amounts of tulips and lilies.

      How many tulips and lilies will she need?   ______ + ______ = _______

                                                                                   # of tulips          # of lilies         total number of flowers


	Scoring Guide/Rubric (a score should be awarded for each criterion below)

	Criteria (CCSS code)
	0 points
	1 Point
	2 Point

	Determine whether a group of objects (up to 20) has an odd or even number of members; e.g by pairing objects or counting them by 2s. (2.OA.3)
	No strategy used to show that there is an even number of objects and explanation is unclear.
	Strategy is used to show that there is an even number of objects, but explanation is vague or unclear.  
	Strategy is used to show that thereis an even number of objects AND explanation is clear.

	Write an equation to express an even number as a sum of two equal addends. (2.OA.3)
	Equation is NOT correct.
	Equation is somewhat correct. (e.g., correct symbols may be used but may be in the wrong place like 6 = 6 + 12 or 
6 + = 6 12.)
	Equation is correct.


Group A is even because I can group the objects into pairs without any leftovers.





T = tulip


L = lily
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T = tulip


L = lily
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